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MACROECONOMICS
Time Allotted: 2 Hours ; arks: 60
The figures in the margin indicate full marks. ‘\
GROUP-A / fRt-3 / wrye-5 \/
) Answer any four questions: 3x4=12

CI-CPIR D115 @iea Tas wias @
(a) Define Gross Domestic Product (GDP). \
Gross Domestic Product (GDP)-<3 et wis | \
T R ST TR Ry O
(b) What do you mean by Price Index?

MIPHF 0 F @A 2 L
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(c) Define Say’s Law of Q
CUa R R o NQW
ﬁ.ﬁwm% ;
(d) Show thatl‘/? 4}
8 @ MPG+MPS=] .
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e) Defi arginal Propensity to Consume (MPC).

CS% 2eo1T (MPC) ket whe |
R S1gfRT g e |
(f) Define inflation.

TS ket we |
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2030

Turn Over




UG/CBCS/B.A./B.Sc./Programme/2nd Sem./Economics/ECONDSC2/2023

GROUP-B / Reti-2 / &g -&@

Answer any four questions
- Bafs @ted T e
3 FREE] THEwD! ST gAY

2. Discuss the main difficulties in measuring national income.

6x4=24
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3. Distinguish between Fisher’s version and Cambridge version of quantity heo

of money.
wda ARNEeTgs R I (Fisher's version) 6 (@@ Gmy@idge
version) S A< SCAGA FF1
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4, Explain classical theory of output and em;;loyment@@

IR T P & 2 S @

6. Explain 10anable®ory of rate of interest.

T F4|

w
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GROUP-C / astsi-+ / &g -7

Answer any fwo questions
B-c 716 2w Tea we
7 g ! IR R
8. (a) Distinguish between GNP and NNP.
GNP 6 NNP-«3 5t A1) %41
GNP 313 NNP-ATS arefea e |
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(b) “Balance of Payments always Balances” — Explain.
«Balance of Payments always Balances” — =0l 1

gt e e T 8B TR |

9. What is meant by the term ‘Value of Money? How is the value of money 4+8
measured?

oA e B 9 R e T AR TN 2
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10.(a) How is the equilibrium rate of interest determined in the liquidity preferenc&ﬂ

theory? X
I g BTG TSI SRy e 2 e = \

R BT RIgHTaT 1 SR Seger o] FERI 89 ?
(b) What are the shortcomings of the theory?

@3 wrga widefE BrEd #4| @
7T R HHINIE® & & §1 7 ®
11.(a) Distinguish between demand-pull inflation @\t— sh inflation. 6+6
FapT T 4 |

HifEnt e ¢ 3 Ffaeiee
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(b) Discuss the various anti-inflati measures.
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T eIy AR &R BEhe TR |

X

2030 3



